
JMC Practice Paper C

[image: image1.png]The value of 1000 — 100 + 10 — 1 is:
A 111 B 900 C 909 D 990 E 999

The diagram shows a pattern made from matchsticks stuck to a piece | |
of card. What is the smallest number of matchsticks that need to be ]
added so that the resulting pattern has a line of symmetry? |

A0 B 1 c2 D3 E 4

Gollum eats fish on alternate days. How often does he eat fish on a Monday?

A Twiceaday B Onceaweek C Once afortnight D Once amonth E Once a year

If you looked in a mirror at an accurate clock at 1:30 pm, which of the following would you
see?

O-O-O-O-©

Which of the following numbers is not the difference between two of the others?

Al B 7 co Ds E 2

Jonny’s rat is a slow learner! Every time it goes through this Start —p
maze, it visits every square at least once. What is the
smallest possible number of squares it visits more than once
when it goes through the maze?

A0 B 1 c2 D3 E 4 —» End

The lightest seeds in the world are probably those of the Creeping Lady's-tresses Orchid,
500 000 of which would weigh 1 gram. How many millions of these seeds weigh 1 kilogram?

A2 B 200 C 500 D 5000 E 1000000



[image: image2.png]Two identical rectangular cards are glued together as shown to form an
'L shape. The perimeter of this 'L’ shape is 40 cm. What is the ratio of
the lengths of the sides of one of the original cards?

Al2 B L4 C 15 D25 E moreinformation required

How many of the statements in the box are None of these statements is true.

9 . .
tue? Exactly one of these statements is true.

Exactly two of these statements are true.
A0 B 1 Cc2 D3 E 4 All of these statements are true.

If the square is completed with the letters A, B, C, D and E so that no
row, column or either of the two main diagonal lines contains the same B A
letter more than once, which letter should replace the asterisk? B
A B C D E bl |¢€
E
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